
y = −3x3x + 520

y = 2x2x + 119

y = −
6
x18

y =
1212
x17

y = −3x3x16

y = 3x3x15

( x , y ) = ( 5 ,−2 )14

( x , y ) = ( 3 , 2 )13

x = 712

4x4x + 4y4y11

−24xy24xy24xy24xy210

−4a4a39

−5x5x8

42x42x42x − 18y18y18y7

5x5x + 2y2y6

−1.55

1
6

4

5
1212

3

−42

41

NO.1

y = −2x2x + 320

y = 3x3x − 219

y =
1818
x18

y =
2424
x17

y = −4x4x16

y = 2x2x15

( x , y ) = ( 2 ,−3 )14

( x , y ) = ( 2 , 3 )13

x = 112

3a3a − 11b11b11b + 511

310

−
1010
9
b9

−63ab63ab63ab63ab8

−9a9a + b7

6a6a − 5b5b6

−75

−
3
4

4

1
1515

3

−20202

71

NO.2

y = −5x5x + 101020

y = 4x4x − 319

y = −
2020
x18

y =
2424
x17

y = 3x3x16

y = 4x4x15

( x , y ) = ( 5 ,−4 )14

( x , y ) = ( 4 , 2 )13

x = −412

5x5x + 2y2y + 311

−28xy28xy28xy28xy10

−8x8x9

−4a4a8

−4a4a2 + abab7

11x11x11x − 8y8y6

−0.54545

−
1
6

4

−
1111
1212

3

32

−71

NO.3
ドリルプリント　２年生「一次関数」後　【解答】


